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M 5 = HE M 5 = HE
H3EH—TH 806 410 396 271\ E—TH 906 463 443 373
HTEEHF_TH 547 270 277 1787 E=TH 1,296 671 625 484
HIEH=TH 607 296 311 2200y E=TH 721 361 360 2472
HI=EHMNTH 496 245 251 163|#A7 =mTH 552 286 266 221
HIEHATH 573 274 299 216 a7 ERTH 1,095 537 558 386
HTEENTH 1,188 586 602 AN\ M7 ENRTH 744 393 351 264
HIEHELTH 848 424 424 01| M7EETH 725 367 358 244
#9EEH/\TH 902 444 458 296 |#x—T B 2 1 1 1
NIT 317 174 143 116|#%=TH 1 1 1
KFFA 1,402 718 684 B3| ARTE—TH 648 326 322 251
Eipiis) 167 85 82 S0|ARTEZTH 396 202 194 138
TRIETE 73 45 28 22| AR E=TH 810 400 410 298
= 7 875 421 454 2712\ AR/7TEMT B 1,370 691 679 453
Ix 109 54 55 35| E—TH 6 2 4 3
7 F 449 213 236 1417 E=TH 698 396 302 341
By Kl 1,609 734 775 500|#Hpr7 E=TH 465 243 222 198
A4 1,615 751 764 521|#pr/ 7 =T B 603 304 299 235
IR 1,429 771 658 541 |7 ERTH 1,082 534 548 390
A L% H 138 66 72 35|MFIa—TH 712 348 364 295
AR 580 282 298 205|MRTE=TH 697 344 353 274
U AnEis 1,192 584 608 353 |METE=TH 773 386 387 299
UONLE—TH 703 369 334 272|WARTEMT B 674 352 322 237
UOMNLEZTH 889 451 438 356 |MARTEERT B 944 478 466 317
UNLE=TH 1,031 547 484 370|MRIENT B 737 370 367 248
XRFE-—TH 485 245 240 168|MATAE+ETHE 1,108 550 558 355
E=E=-TH 493 260 233 164|ZEm&E—TH 646 328 318 234
ERE=TBH 561 289 272 198|EM&=TH 959 494 465 324
ERMTH 495 251 244 167 | X EMAE=TH 619 318 301 217
ERAETH 334 171 163 109|ZEMAMT B 912 432 480 316
A 1,366 694 672 517 |XEMERTH 686 343 343 230
BeT7E—TH 647 335 312 229|FkEMANTH 495 256 239 208
BE7EZTH 2,026 997 1,029 781 |XEE+LTH 729 391 338 287
BE7E=TH 2,191 1,093| 1,098 834|& &t 60,448| 30,615| 29,833 22,123
ENi 6,416| 3,301 3,115| 2485 B 8 et
(TEE—TH 438 250 188 187 A A 105 A
(TREEZTH 888 435 453 324 [B56 N Z49A]
(ToEE=TH 1,007 519 488 395 3 54 tHHIE
[FTEHMETH 769 376 393 232
FOExL8FETH 488 246 249 214 XEREXRBIRAQLETFATERERLTVDIERADREK
(TREENTH 688 371 317 267






